

Pay Estimate Created Date: July 17, 2023

			ontract ID ime Contracte	221216-H orSTF, LLC		ntrol C	Pay Period Start. CompanyPay Period End	July 15, 2023 N		er Amount\$4	,083.75	
Approval	Date										By User	
July 17, 202	3			Gen	erated and App	proved	(and should be considered	d Draft) at the F	Project Office Lev	el by	craftt1	
July 17, 202	3			Reviewe	d and Approve	d (and	should be considered Dra	ft) at the Resid	ent Engineer Lev	el by	PULLIA	
July 18, 202	3				Re	viewed	d and Approved at the Cen	tral Office Cont	rollers Office Lev	el by	ramses	
Origina	I Completio	n Date	Current	Completio	n Date	Actu	ual Completion Date	% of C	urrent Contract	Amount Con	nplete	
Oc	ctober 1, 202	3	Oct	ober 1, 202	3				100.00	%		
		Contract I	Informational	Dates			Milestones					
Date De	scription	Original C	Completion D	ate Currer	t Completion	Date	No Milestones Exist for 0	Contract				
Acceptance		Ū	•		•							
Awarded D		January 4	, 2023	Januar	y 4, 2023							
Letting Dat	е	December			ber 16, 2022							
	roceed Date	February 6	,		ry 6, 2023							
Open to Tra	affic Date											
Work Bega	in Date	April 3, 20	23	April 3,	2023							
Contract To	otal Pay For	Estimate N	o. 6									
221216-H03	221216-H03 Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage Other Contract Adjustments			<mark>\$0.00</mark> <mark>\$71,8</mark> \$0.00 \$0.00 \$0.00	16.13		Previous \$2,000,049.75 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2,000,049.75		\$2,000,049 \$71,816.13 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00		
Contract To	otal Payable	This Estim	ate:	\$71,	816.13		φ2,000,049.75		φ2,071,000	.00		
No Data A Contract Ad	T <mark>his Estimate</mark> vailable justments T	his Estimat										
	ljustments T											
,	Line No.	Item Descri	ption	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount	
JSE0161 0	WATE	ERBORNE P	HIGH BUILD PAVEMENT NT, TYPE L BEADS	Other Item Adjustment		ty	Rout Rou Rout	.43		\$39,801.48		
C	WATE	IN. YELLOW HIGH BUILD Ott ATERBORNE PAVEMENT Adju MARKING PAINT, TYPE L BEADS				ty	Rout Rou Rout	.24		\$29,642.0		
0	WATE	ERBORNE F	HIGH BUILD PAVEMENT NT, TYPE L BEADS	Other Item Adjustment	Retroreflectivi Adjustment	ty		oute 60 - \$823 Route 63 - \$58 ute 67 - \$1,490 Total - \$2,372	.30 .45		\$2,372.60	



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route County Location of Work								
JSE0161	FAF-60-3(123)	F-60-3(123) Pavement marking 60 63 67 HOWELL on Rte. 60 from Webster County line to I-55, on Rte. 67 from Jefferson County line to Rte. 160 and on Rte. 63 from east intersection of Rte. 60 to Rte. 14									
otals by J	Job Numbers										
JSE0161					This Estimate	Previous	To Date				
	Posted Item Pay				\$0.00	\$2,000,049.75	\$2,000,049.75				
	Gross Item	Adjustments			\$71,816.13	\$0.00	\$71,816.13				
		Gr	oss Item	Pay	\$71,816.13	\$2,000,049.75	\$2,071,865.88				
	Incentive				\$0.00	\$0.00	\$0.00				
	Disincentiv	e			\$0.00	\$0.00					
	Liquidated	Damages			\$0.00	\$0.00	\$0.00				
	Other Cont	ract Adjustme	nts		\$0.00						



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221216-H03	JSE0161	0001	0010	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$8,000.00	\$16,000.00
		0001 0020 6161005			CONSTRUCTION SIGNS	41.00	0.00	41.00	SQFT	41.00	\$4.00	\$164.00
		0001	0030	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.00
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$250,000.00	\$250,000.00
		0001	0050	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,751,165.00	9,075.00	3,760,240.00	LF	3,760,240.00	\$0.25	\$940,060.00
		0001	0060	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,937,383.00	7,260.00	2,944,643.00	LF	2,944,643.00	\$0.25	\$736,160.75
		0001	0070	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	56,665.00	0.00	56,665.00	LF	56,665.00	\$1.00	\$56,665.00
	Project JSE0161 - Total Value Posted to Date as of Report Generated Date											\$2,000,049.75
221216-H03 Ove	21216-H03 Overall - Total Value Posted to Date as of Report Generated Date											



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The Infor	mation	n <u>t woied</u>	is line are details for	Construction Signs (if applicable	<u>e).</u>							
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
JSE0161	0020	April 13, 2023	41	WO20-5a 48x48 16.00 RIGHT/CENTER/LEFT TWO LANES CLOSED AHEAD		11+124	121.919	2.00	16.00			32.00
			See Special Sign Details									
				GO22-1 21x15 2.19 WET PAINT (ARROW PIVETS)		11+124	121.919	4.00	2.19			8.76
	0020 - To	otal										40.76



Line Item Adjustments by Estimate

Jul 19, 2023

Contract ID: 221216-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0161	0040	MOBILIZATION	Other Item Adjustment	OTHR	2	May 2, 2023	craftt1	(\$50,403.40)	As per Spec 618.2.2 Partial Payments \$1,995,966.00 x 2.5% = \$49,899.15 x 4 = \$199,596.60. \$250,000.00 - \$199,595.60 = \$50,403.40
					5	Jun 15, 2023	craftt1	\$50,403.40	Remaining Amount that was withheld until acceptance.
				OTHR - Tota	al			\$0.00	
			Other Item	Adjustment -	Total			\$0.00	
	0040 -	Total						\$0.00	
	0050	6 IN. WHITE HIGH BUILD WATERBORNE	Material		1	Apr 17, 2023	SYSTEM	\$260,479.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user craftt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		PAINT			1	Apr 17, 2023	SYSTEM	(\$260,479.75)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	OTHR	1	Apr 17, 2023	craftt1	(\$51,357.00)	1027140 X 0.25 = 256785 X 20% = 51357.00
					2	May 2, 2023	craftt1	(\$89,277.10)	2,812,682 x \$0.25 = 703,170.50 x 20% = \$-140,634.10 (Total Qty to Date installed) 102,714 x \$0.25 = 256,785.00 x 20% = \$+51,357.00 (Qty Correction for Est. 0001) \$-140,634.10 - \$+51,357.00 = \$-89,277.10. This is the 20% withholdings for Reflectivity.
					3	May 15, 2023	craftt1	(\$46,470.40)	938,483 LF (Original Plan Qty.) - 9075.0 (Qty Adjustment) = 929,408 LF x \$0.25 = \$232,352.00 x 20% = \$-46470.40
					4	Jun 1, 2023	craftt1	(\$453.75)	9075.0 LF x \$0.25 = 2268.75 x 20% = \$453.75
					5	Jun 15, 2023	craftt1	\$187,558.25	20% Withholdings \$51,357.00 Est 0001 \$89,277.10 Est 0002 \$46470.40 Est. 0003 \$453.75 Est 0004
				OTHR - Tota	al			\$0.00	
				REFL	6	Jul 17, 2023	craftt1	\$39,801.48	Route 60 - \$21,377.85 Route 63 - \$2,196.43 Route 67 - \$16,227.20 Total - \$39,801.48
				REFL - Tota	I			\$39,801.48	
			Other Item	Adjustment -	Total			\$39,801.48	
	0050 -	Total						\$39,801.48	
	0060	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	Material		1	Apr 17, 2023	SYSTEM	\$223,042.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user craft1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					1	Apr 17, 2023	SYSTEM	(\$223,042.75)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
			Other Item Adjustment	OTHR	1	Apr 17, 2023	craftt1	(\$37,111.40)	742228 X 0.25 = 185557 X 20% = 37111.40
					2	May 2, 2023	craftt1	(\$72,791.25)	2,198,053 x \$0.25 = 549,513.25 x 20% = \$-109,902.65 (Total Qty to Date installed) 742,228 x \$0.25 = 185,557.00 x 20% = \$+37,111.40 (Qty Correction for Est. 0001) \$-109,902.65 - \$+37,111.40 = \$-72,791.25. This is the 20% withholdings for Reflectivity.
					3	May 15, 2023	craftt1	(\$36,603.50)	739,330 LF (Original Plan Qty.) - 7260 (Qty Adjustment) = 732,070 LF x \$0.25 = \$183,017.50 x 20% = \$-36,603.50
					4	Jun 1, 2023	craftt1	(\$363.00)	7260.0 LF x \$0.25 = 1815.00 x 20% = -363.00
					5	Jun 15, 2023	craftt1	\$146,869.15	20% Withholdings \$37111.40 Est 0001 \$72791.25 Est 0002 \$36603.50 Est 0003 \$363.00 Est 0004
				OTHR - Tota	al			\$0.00	



Line Item Adjustments by Estimate

Contract ID: 221216-H03

			1						
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0161	0060	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	Other Item Adjustment	REFL	6	Jul 17, 2023	craftt1	\$29,642.05	Route 60 - \$16,847.21 Route 63 - \$1,639.24 Route 67 - \$11,155.60 Total - \$29,642.05
				REFL - Tota	ıl			\$29,642.05	
			Other Item	Adjustment -	Total			\$29,642.05	
	0060 -	Total						\$29,642.05	
	0070	12 IN. WHITE HIGH BUILD WATERBORNE	Material		1	Apr 17, 2023	SYSTEM	\$22,093.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user craft1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		PAINT			1	Apr 17, 2023	SYSTEM	(\$22,093.00)	
				- Total				\$0.00	
			Material - To	al - Total				\$0.00	
			Other Item Adjustment	OTHR	1	Apr 17, 2023	craftt1	(\$4,054.00)	20270 X 1.00 = 256785 X 20% = 4054
					2	May 2, 2023	craftt1	(\$3,329.00)	36,915 x \$1.00 = 36,915.00 x 20% = \$-7,383.00 (Total Qty to Date installed) 20,270 x \$1.00 = 20,270.00 x 20% = \$+4,054.00(Qty Correction for Est. 0001) \$-7383.00 - \$+4054.00 = \$-3,329.00. This is the 20% withholdings for Reflectivity.
					3	May 15, 2023	craftt1	(\$3,950.00)	19750 LF x \$1.00 = \$19750.00 x 20% = \$-3950.00
					5	Jun 15, 2023	craftt1	\$11,333.00	20% withholdings \$4054.00 Est 0001 \$3329.00 Est 0002 \$3950.00 Est 0003
				OTHR - Tota	al			\$0.00	
				REFL	6	Jul 17, 2023	craftt1	\$2,372.60	Route 60 - \$823.90 Route 63 - \$58.30 Route 67 - \$1,490.45 Total - \$2,372.60
				REFL - Total				\$2,372.60	
			Other Item	Adjustment -	Total			\$2,372.60	
	0070 -	Total					\$2,372.60		
JSE0161 -	Total						\$71,816.13		
Overall - 1	Total						\$71,816.13		



There are no contract adjustments to display for this contract.